

## ABOUT THE UNIQUENESS OF CONFORMAL METRICS WITH PRESCRIBED SCALAR AND MEAN CURVATURES ON COMPACT MANIFOLDS WITH BOUNDARY

Gonzalo García  
Universidad del Valle

Jhovanny Muñoz  
Universidad del Valle

Received: November 6, 2009    Accepted: December 1, 2009

### Abstract

Let  $(M^n, g)$  be an  $n$ -dimensional compact Riemannian manifold with boundary with  $n \geq 2$ . In this paper we study the uniqueness of metrics in the conformal class of the metric  $g$  having the same scalar curvature in  $M$ ,  $\partial M$ , and the same mean curvature on the boundary of  $M$ ,  $\partial M$ . We prove the equivalence of some uniqueness results replacing the hypothesis on the first Neumann eigenvalue of a linear elliptic problem associated to the problem of conformal deformations of metrics for one about the first Dirichlet eigenvalue of that problem.

**Keywords:** Conformal metrics, scalar curvature, mean curvature.

### 1 Introduction

Let  $(M^n, g)$  be an  $n$ -dimensional compact Riemannian manifold with boundary. Let  $R_g$  denote its scalar curvature and  $H_g$  the trace of the second fundamental form. We let  $h_g = \frac{H_g}{n-1}$  be the mean curvature of the boundary of  $M$ ,  $\partial M$ . In [1] and [3] it has been studied to what extent the scalar curvature and the mean curvature of the boundary determine the metric within its conformal class, where the conformal class of a metric  $g$ , denoted by  $[g]$ , is the set of metrics of the form  $\varphi g$  where  $\varphi$  is a smooth positive function defined on  $M$ .

When  $n = 2$  and  $\tilde{g} = e^{2u}g$  the function  $u$  satisfies the following non-linear elliptic equation:

$$\begin{cases} \Delta_g u - K_g + K e^{2u} = 0 & \text{in } M, \\ \frac{\partial u}{\partial \eta_g} + k_g - k_{\tilde{g}} e^u = 0 & \text{on } \partial M, \end{cases} \quad (1)$$

where  $K_g = \frac{R_g}{2}$  and  $k_g = h_g$  denote the Gaussian curvature and the geodesic curvature of  $M$  with respect to the metric  $g$ .

If  $n \geq 3$  and  $\tilde{g} = u^{\frac{4}{n-2}}g$  then the function  $u$  satisfies the non-linear elliptic equation:

$$\begin{cases} \Delta_g u - c(n)R_g u + c(n)R_{\tilde{g}}u^{\frac{n+2}{n-2}} = 0 & \text{in } M, \\ \frac{\partial u}{\partial \eta} + \frac{n-2}{2}h_g u - \frac{n-2}{2}h_{\tilde{g}}u^{\frac{n}{n-2}} = 0 & \text{on } \partial M, \end{cases} \quad (2)$$

where  $c(n) = \frac{n-2}{4(n-1)}$ .

In [1] and [3] the following question is investigated: Given  $\tilde{g} \in [g]$  with  $R_g = R_{\tilde{g}}$  in  $M$ , and  $h_g = h_{\tilde{g}}$  on  $M$ , when is  $\tilde{g} = g$ ? This geometric question is equivalent to the following uniqueness questions in PDEs: When  $n = 2$  assume that  $u$  is the solution of problem (1) where  $K_g = K_{\tilde{g}}$  and  $k_g = k_{\tilde{g}}$ , is the function  $u$  the constant function 0? If  $n \geq 3$  and  $u$  is the solution of problem (1) where  $R_g = R_{\tilde{g}}$  and  $h_g = h_{\tilde{g}}$ , is the function  $u$  the constant function 1?

We observe that if  $R_g = R_{\tilde{g}} = 0$ ,  $h_g = h_{\tilde{g}} = 0$  then  $g = \gamma\tilde{g}$ , where  $\gamma$  is a positive constant. From now on we assume that the functions  $R_g$  and  $h_g$  do not vanish simultaneously.

Let us introduce the operator  $(L_1, B_1)$  defined by

$$\begin{cases} L_1 = \Delta_g + \frac{R_g}{n-1} & \text{in } M, \\ B_1 = \frac{\partial}{\partial \eta} - h_g & \text{on } \partial M. \end{cases} \quad (3)$$

Let denote by  $\lambda$  and by  $\beta$  the first Dirichlet eigenvalue and the first Neumann eigenvalue of the operator  $(L_1, B_1)$ , respectively. Let the function  $\tilde{f}$  be a first positive Dirichlet eigenfunction of the operator  $(L_1, B_1)$ , that is  $\tilde{f}$  satisfies the boundary value problem

$$\begin{cases} L_1(\tilde{f}) + \lambda\tilde{f} = 0 & \text{in } M, \\ B_1(\tilde{f}) = 0 & \text{on } \partial M. \end{cases} \quad (4)$$

Now, let the function  $f$  be a first positive Neumann eigenfunction of the operator  $(L_1, B_1)$ , that is,  $f$  satisfies the boundary value problem

$$\begin{cases} L_1(f) = 0 & \text{in } M, \\ B_1(f) = \beta f & \text{on } \partial M. \end{cases} \quad (5)$$

Escobar in [1] proved the following uniqueness theorem

**Theorem 1.** *Let  $(M^n, g)$  be a compact Riemannian manifold with boundary and  $h_g \leq 0$ . Suppose that  $\tilde{g} \in [g]$ ,  $R_g = R_{\tilde{g}}$  and  $h_g = h_{\tilde{g}}$ . If both  $\lambda$  and  $\tilde{\lambda}$  are positive or one of them is equal to zero then  $\tilde{g} = g$ .*

The following proposition follows from this theorem and the variational characterization of the first Dirichlet eigenvalue.

**Proposition 1.** *Let  $(M^n, g)$  be a compact Riemannian manifold with boundary. Suppose that  $\tilde{g} \in [g]$ ,  $R_g = R_{\tilde{g}} \leq 0$  and  $h_g = h_{\tilde{g}} \leq 0$ . Then  $\tilde{g} = g$ .*

In [3] we found a result which is similar to Escobar's uniqueness theorem (Theorem 1); in our result we replace Escobar's hypothesis of non-positive mean curvature by non-negative scalar curvature.

**Theorem 2.** *Let  $(M^n, g)$  be a compact Riemannian manifold with boundary and  $R_g \geq 0$ . Suppose that  $\tilde{g} \in [g]$ ,  $R_g = R_{\tilde{g}}$  and  $h_g = h_{\tilde{g}}$ . If both  $\lambda$  and  $\tilde{\lambda}$  are positive or one of them is equal to zero then  $\tilde{g} = g$ .*

In [3], as a consequence of Theorems 1 and 2 we found, respectively, the following results

**Theorem 3.** *Let  $(M^n, g)$  be a compact Riemannian manifold with boundary and  $R_g \geq 0$ . Suppose that  $\tilde{g} \in [g]$ ,  $R_g = R_{\tilde{g}}$  and  $h_g = h_{\tilde{g}}$ . If both  $\beta$  and  $\tilde{\beta}$  are positive or one of them is equal to zero then  $\tilde{g} = g$ .*

**Theorem 4.** *Let  $(M^n, g)$  be a compact Riemannian manifold with boundary and  $h_g \leq 0$ . Suppose that  $\tilde{g} \in [g]$ ,  $R_g = R_{\tilde{g}}$  and  $h_g = h_{\tilde{g}}$ . If both  $\beta$  and  $\tilde{\beta}$  are positive or one of them is equal to zero then  $\tilde{g} = g$ .*

In the next section we give direct proofs of Proposition 1 and Theorems 3 and 4. From the variational characterizations of the eigenvalues  $\lambda$  and  $\beta$  it follows that  $\lambda \geq 0$  if and only if  $\beta \geq 0$ , and  $\lambda = 0$  if and only if  $\beta = 0$ . This fact and Theorems 3 and 4 yield, respectively, to the Theorems 1 and 2, showing the equivalence of such results.

## 2 Uniqueness theorems

First we give a proof of Proposition 1.

*Proof*. First, let us consider the case  $n \geq 3$ . Set  $\tilde{g} = u^{\frac{4}{n-2}}g$  and  $v = u^{\frac{-2}{n-2}} - 1$ .

A straightforward calculation shows that

$$\begin{cases} \Delta v + \frac{R_g}{2(n-1)}v(u^{\frac{2}{n-2}} + 1) = \frac{2n}{(n-2)^2}u^{-\frac{2(n-1)}{n-2}}|\nabla u|^2 \geq 0 & \text{in } M, \\ \frac{\partial v}{\partial \eta} = h_g v & \text{on } \partial M. \end{cases} \quad (6)$$

Using the hypothesis  $R_g \leq 0$ , we get  $\frac{R_g}{2(n-1)}(u^{\frac{2}{n-2}} + 1) \leq 0$ .

Let  $v(x_0) = \max\{v(x) : x \in M\}$ . If  $x_0 \in \partial M$  and  $v(x_0) < 0$  then  $v < 0$ ,  $u > 1$  and  $\tilde{g} > g$ .

If  $x_0 \in \partial M$  and  $v(x_0) \geq 0$  then Hopf's lemma implies that  $\frac{\partial v(x_0)}{\partial \eta} > 0$  or

$v$  is a non-negative constant. The inequality  $\frac{\partial v(x_0)}{\partial \eta} > 0$  is impossible because of the hypothesis  $h_g \leq 0$  and the inequality

$$\frac{\partial v(x_0)}{\partial \eta} = h_g(x_0)v(x_0) \leq 0.$$

Hence  $v$  is a non-negative constant. From here and the equation (6) we obtain

$$\frac{2n}{(n-2)^2}u^{-\frac{2(n-1)}{n-2}}|\nabla u|^2 = 0.$$

This equation and the fact that  $u > 0$  implies that  $\nabla u = 0$ . It follows that  $u$  is a constant. From (2), using that  $R_g$  and  $h_g$  do not vanish simultaneously we conclude that  $u = 1$  and  $\tilde{g} = g$ .

On the other hand, if  $x_0 \in M \setminus \partial M$  the maximum principle implies that  $v < 0$  or  $v$  is a non negative constant. If  $v < 0$  we conclude that  $u > 1$  and  $\tilde{g} > g$ . If  $v$  is a non-negative then, as before, we get  $u = 1$  and  $\tilde{g} = g$ . Hence, we have obtained for  $n \geq 3$  that  $\tilde{g} > g$  or  $\tilde{g} = g$ . Now consider the case  $n \geq 2$ . Let  $\tilde{g} = e^{2u}g$  and  $v = e^{-u} - 1$ .  $v = e^{-u} - 1$ . Then  $v$  satisfies

$$\begin{cases} \Delta v + K_g v(1 + e^u) = e^{-u} |\nabla u|^2 \geq 0 & \text{in } M, \\ \frac{\partial v}{\partial \eta} = k_g v & \text{on } \partial M. \end{cases} \quad (7)$$

Using the hypothesis  $R_g \leq 0$  we get  $K_g(1 + e^u) \leq 0$ . Arguing as in the case of dimension  $n \geq 3$ , we get again that  $\tilde{g} = g$  or  $\tilde{g} > g$ . In any case we have obtained  $\tilde{g} = g$  or  $\tilde{g} > g$ ; changing the roles of  $\tilde{g}$  and  $g$ , we also get  $g > \tilde{g}$  or  $g = \tilde{g}$  and we conclude that  $\tilde{g} = g$ .

**Lemma 1.** *Let  $(M^n, g)$  be a compact Riemannian manifold with boundary and  $R_g \geq 0$ . Suppose that  $\tilde{g} \in [g]$ ,  $R_g = R_{\tilde{g}}$  and  $h_g = h_{\tilde{g}}$ . If  $\beta = 0$  then  $\tilde{g} = g$  and if  $\beta > 0$  then  $\tilde{g} = g$  or  $\tilde{g} > g$ .*

*Proof.* Let us consider first the case  $n \geq 3$ . Set  $\tilde{g} = u^{\frac{4}{n-2}} g$  and  $v = u^{\frac{-2}{n-2}} - 1$ . A straightforward calculation shows that

$$\begin{cases} \Delta v = \frac{2n}{(n-2)^2} u^{-\frac{2(n-1)}{n-2}} |\nabla u|^2 - \frac{R_g}{2(n-1)} v(u^{\frac{2}{n-2}} + 1) & \text{in } M, \\ \frac{\partial v}{\partial \eta} = h_g v & \text{on } \partial M. \end{cases} \quad (8)$$

Let  $f$  be a positive eigenfunction associated to the first Neumann eigenvalue of the operator  $(L_1, B_1)$ . Thus  $f$  is a solution of the boundary value problem (5). By setting  $w = \frac{v}{f}$ , since  $R_g \geq 0$  we get

$$\frac{w R_g}{2(n-1)} \left(1 - u^{\frac{2}{n-2}}\right) = \frac{u^{-\frac{2}{n-2}} R_g}{2(n-1)f} \left(1 - u^{\frac{2}{n-2}}\right)^2 \geq 0, \quad (9)$$

and therefore

$$\begin{cases} \Delta w + \frac{2}{f} \nabla f \cdot \nabla w = \frac{2n}{(n-2)^2 f} u^{-\frac{2(n-1)}{n-2}} |\nabla u|^2 + \frac{u^{-\frac{2}{n-2}} R_g}{2(n-1)f} \left(1 - u^{\frac{2}{n-2}}\right)^2 \geq 0 & \text{in } M, \\ \frac{\partial w}{\partial \eta} = -w\beta & \text{on } \partial M. \end{cases} \quad (10)$$

Let  $w(x_0) = \max\{w(x) : x \in M\}$  and let us assume  $\beta = 0$ . If  $x_0 \in \partial M$ , since  $\frac{\partial w(x_0)}{\partial \eta} = 0$ , by Hopf's lemma we get  $w(x_0) < 0$  or  $w$

is a non-negative constant.

If  $w(x_0) < 0$  then  $\tilde{g} > g$ . If  $w$  is a non-negative constant, by equation (8), we get

$$\frac{2n}{(n-2)^2} u^{-\frac{2(n-1)}{n-2}} |\nabla u|^2 + \frac{u^{-\frac{2}{n-2}} R_g}{2(n-1)} (1 - u^{\frac{2}{n-2}})^2 = 0. \tag{11}$$

Hence  $\nabla u = 0$  and  $u$  is a constant. From (2), using that  $R_g$  and  $h_g$  do not vanish simultaneously we conclude that  $u = 1$  and  $\tilde{g} = g$ . If  $x_0 \in M \setminus \partial M$  the maximum principle implies that  $w$  is a constant, and therefore we get the equation (10) again and as before we conclude that  $\tilde{g} = g$ .

Now we consider  $\beta > 0$ . When  $x_0 \in \partial M$ , if  $w(x_0) < 0$  then  $v$  is negative,  $u > 1$  and  $\tilde{g} > g$ . If  $w(x_0) \geq 0$ , Hopf's lemma implies that  $\frac{\partial w}{\partial \eta}(x_0) > 0$  or  $w$  is a nonnegative constant. If

$$\frac{\partial w}{\partial \eta}(x_0) = -w(x_0)\beta > 0,$$

then  $w(x_0) < 0$ , which is a contradiction and we conclude that  $w$  is a nonnegative constant. If  $w$  is a nonnegative constant we obtain again the equation (11) and we conclude  $\tilde{g} = g$ .

Next, we will consider the case  $n = 2$ . Set  $\tilde{g} = e^{2u}g$  and  $v = e^{-u} - 1$ . Then the function  $v$  satisfies the equations

$$\begin{cases} \Delta v = e^{-u} |\nabla u|^2 - K_g v(1 + e^u) & \text{in } M, \\ \frac{\partial v}{\partial \eta} = k_g v & \text{on } \partial M. \end{cases} \tag{12}$$

Let  $f$  be a positive eigenfunction associated to the first Neumann eigenvalue of the operator  $(L_1, B_1)$ , in other words,  $f$  satisfies the boundary value problem (5). Therefore the function  $w = \frac{v}{f}$  satisfies

$$\begin{cases} \Delta w + \frac{2}{f} \nabla f \cdot \nabla w = \frac{e^{-u}}{f} |\nabla u|^2 + K_g \frac{e^{-u}}{f} (1 - e^u)^2 \geq 0 & \text{in } M, \\ \frac{\partial w}{\partial \eta} = -\beta w & \text{on } \partial M. \end{cases} \tag{13}$$

Arguing in the same way as in the case  $n \geq 3$  we get again that  $\tilde{g} = g$  or  $\tilde{g} > g$ .

**Lemma 2.** *Let  $(M^n, g)$  be a compact Riemannian manifold with boundary and  $h_g \leq 0$ . Suppose that  $\tilde{g} \in [g]$ ,  $R_g = R_{\tilde{g}}$  and  $h_g = h_{\tilde{g}}$ . If  $\beta = 0$  then  $\tilde{g} = g$  and if  $\beta > 0$  then  $\tilde{g} = g$  or  $\tilde{g} > g$ .*

*Proof.* To prove our lemma when  $n \geq 3$ , we let  $\tilde{g} = u^{\frac{4}{n-2}}g$  and  $v = u^{\frac{-2}{n-2}} - 1$ . A straightforward calculation shows that

$$\begin{cases} \Delta v = \frac{4(n+2)}{(n-2)^2} u^{-\frac{2n}{n-2}} |\nabla u|^2 - \frac{R_g}{n-1} v & \text{in } M, \\ \frac{\partial v}{\partial \eta} = \frac{2h_g}{1+u^{\frac{2}{n-2}}} v & \text{on } \partial M. \end{cases} \quad (14)$$

As in the previous lemma, let  $f$  be a positive eigenfunction associated to the first Neumann eigenvalue of the operator  $(L_1, B_1)$ . By setting  $w = \frac{v}{f}$  we get

$$\begin{cases} f\Delta w + 2\nabla f \cdot \nabla w = \frac{4(n+2)}{(n-2)^2} u^{-\frac{2n}{n-2}} |\nabla u|^2 \geq 0 & \text{in } M, \\ \frac{\partial w}{\partial \eta} = \frac{h_g(1-u^{\frac{2}{n-2}})}{1+u^{\frac{2}{n-2}}} w - \beta w & \text{on } \partial M. \end{cases} \quad (15)$$

Let  $w(x_0) = \max\{w(x) : x \in M\}$ . We have to consider two cases.

First, let us assume  $\beta > 0$ . If  $x_0 \in \partial M$  and  $w(x_0) < 0$  then  $\tilde{g} > g$ .

If  $x_0 \in \partial M$  and  $w(x_0) \geq 0$  then by Hopf's lemma we get  $\frac{\partial w}{\partial \eta}(x_0) > 0$

or  $w$  is a nonnegative constant.

If  $\frac{\partial w}{\partial \eta}(x_0)$  were positive, from the inequalities

$$0 < \frac{\partial w}{\partial \eta}(x_0) = \frac{h_g(1-u^{\frac{2}{n-2}})}{1+u^{\frac{2}{n-2}}} w(x_0) - \beta w(x_0), \quad (16)$$

and

$$h_g \frac{(1-u^{\frac{2}{n-2}})}{1+u^{\frac{2}{n-2}}} w = h_g \frac{u^{-\frac{4}{n-2}}(1-u^{\frac{2}{n-2}})^2}{f} \leq 0, \quad (17)$$

we would get

$$-\beta w(x_0) > 0.$$

Hence  $w(x_0) < 0$  which is a contradiction; consequently  $w$  is a nonnegative constant. Arguing as in the previous lemma we conclude that  $u = 1$  and  $\tilde{g} = g$ . If  $x_0 \in M \setminus \partial M$  the maximum principle implies that  $w$  is a constant. As before we conclude that  $\tilde{g} = g$ .

Now let us assume  $\beta = 0$ . If  $x_0 \in \partial M$ , using the equations (15) and the inequality (17) we get  $\frac{\partial w}{\partial \eta}(x_0) \leq 0$ . Hopf's lemma implies that  $w < 0$

or  $w$  is a nonnegative constant and we conclude again that  $\tilde{g} = g$  or  $\tilde{g} > g$ . If  $x_0 \in M \setminus \partial M$  using the maximum principle we arrive to  $\tilde{g} = g$ .

Now, we will consider the case  $n = 2$  Set  $\tilde{g} = e^{2u}g$  and  $v = e^{-u} - 1$ . Then  $v$  satisfies:

$$\begin{cases} \Delta v &= 4e^{-2u}|\nabla u|^2 - 2K_g v & \text{in } M, \\ \frac{\partial v}{\partial \eta_g} &= \frac{k_g v}{1 + e^u} & \text{on } \partial M. \end{cases} \quad (18)$$

As before, let  $f$  be a positive eigenfunction associated to the first Neumann eigenvalue of the operator  $(L_1, B_1)$ . Since  $f$  is a solution of the boundary value problem (5) then the function  $w = \frac{v}{f}$  satisfies

$$\begin{cases} \Delta w + 2\nabla f \cdot \nabla w &= 4e^{-2u}|\nabla u|^2 & \text{in } M, \\ \frac{\partial w}{\partial \eta_g} &= wk_g \frac{1 - e^u}{1 + e^u} - \beta w & \text{on } \partial M. \end{cases} \quad (19)$$

Arguing in the same way as in the case  $n \geq 3$  we get again that  $\tilde{g} = g$  or  $\tilde{g} > g$ .

*Proof of Theorems 3 and 4.* If either  $\beta$  or  $\tilde{\beta}$  vanishes then the previous lemmas yield to  $\tilde{g} = g$  If both  $\beta$  and  $\tilde{\beta}$  are positive, the previous lemmas imply that  $\tilde{g} = g$  or  $\tilde{g} > g$  and  $\tilde{g} = g$  or  $\tilde{g} < g$ . Hence, the only possibility is  $\tilde{g} = g$ .

### Acknowledgments

This work was supported by Universidad del Valle, Cali, Colombia, under the project No.7750. Jhovanny Muñoz thanks the Teaching Assistantship Program of Universidad del Valle during his master studies. The authors want to thank the referees for their helpful comments and suggestions, which really improved the paper.



## References

- [1] Escobar, José F. Uniqueness and non-uniqueness of metrics with prescribed scalar and mean curvature on compact manifolds with boundary. *J. of Funct. Anal.* 202 (2003) 424-442
- [2] Escobar, José F. Uniqueness theorems on conformal deformation of metrics, Sobolev inequalities, and eigenvalue estimate I. *Comm. Pure Appl. Math.* 12 202 (1990) 857- 883.
- [3] García G. and Muñoz J. Uniqueness of conformal metrics with prescribed scalar and mean curvatures on compact manifolds with boundary. Submitted to *Rev. Colombiana Mat.*
- [4] Lou, Yuan. Uniqueness and non-uniqueness of metrics with prescribed scalar curvature on compact manifolds, *Indiana Univ. Math. J.*, 47 No 3 (1998).
- [5] J. L. Kazdan and F. W. Warner. Curvature function for compact 2-manifolds, *Ann. of Math.* 99 (1974), 14 - 47.
- [6] J. L. Kazdan and F. W. Warner. Scalar curvature and the conformal deformation of Riemannian structure, *J. Diff. Geo.* 10 (1975), 113 -134.

## Author's address

Gonzalo García  
Departamento de Matemáticas, Universidad del Valle, Cali – Colombia  
ggarcia@univalle.edu.co

Jhovanny Muñoz  
Departamento de Matemáticas, Universidad del Valle, Cali – Colombia  
jhovamu@ univalle.edu.co